7"02

#1 (2a-1) %93 '1 N3 TN K'Y "2 97 7% K D

1) When do we do y»n np>7a?

2) What do we use for y»an np>72 (that is mentioned in the mawn)?
3) (What is done with the y»n after the np>72? )

4) Explain why we need to do y»n np>7a (0"w)?

5) In which places does a person not need to do y»n np>72?

6) Explain the question of the mawn, "anana MW '2 1R T ("w)?

7) What is the answer of the mwn?

8) Explain whether one always has to do y»r np>72in a anan?

9) Give an example why a anancould be considered a (*"w9) yan 12 1°0°10W DPR?
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